e e EIEIEN S ELATE
Rotary Table/ Rack& Pinion Type

TMSQ Series

v
=
'_
<
=
>
wl
=
o

Feature (4 iE)

- Rotary cylinder by double piston method of RACK & PINION
+ Variety of attachment method

+ Higher output than other rotary cylinder
- Easy wire arrangement by hollow shaft
+ Possible to mount shock absorbers

- Possible to mount auto switches

- BRETANEEENSE

- REFXEH

- LR B SERE NS

- HEIHES T E

- ATACEE haR

- ATECHEIEFF R

How To Order (B! S R R 5 %)

TMSQ A 25 A -M9B S

Type Bore Option *Auto Switch No. of Auto Switch
E3:] fakes AT I HEMEFF X [ TIE S
A | High Precision Type(&& £ &) 15,18,21 A | With Adjustment Bolt(f B H%EI24T) Nil(z) | None (FTHiMFF %) Nil(z) [2 (M)
({EAEIE015~025) 25,28,32,40 R [ With Internal Shock Absorber (%5 E 2 H58) M9B | Reed Switch(#A ST %) s [T
B | Basic Type(ZAH) MONP | Contactless Switch(F i St FF %)
(IEAEI1RO15~040)

*Auto Switch(RiiHFF %)
SI&KERRILS:
Zig5-1m (hrif)
L-3m
Z-5m

Specification ( #1 #% )

Type(BE) TMSQ15 [ TMSQ18 | TMSQ21 | TMSQ25 | TMSQ28 | TMSQ32 | TMSQ40
Rotation Angle(E % 3 &) 0~190°

Cushion Angle(£& 4 f &) -

Cushion Type(4& i) Rubber Cushion (#:B%)/Shock Absorber (i & £&#)

Allowable Energy | With Adustment Bolt(i8%:85T)|  0.07 0.25 0.48 0.81 2.4 3.2 5.6

(52 ¥F 31 #€) (kgf.cm) | Wit Intemal Shock Absorber(AEEAS)|  0.39 1.16 1.16 2.94 11 16 29
Max.Weight(zsfk & ) (kgf) 0.57 1.09 1.29 2.26 2.89 4.10 7.65
Air Port Size(# & O1&) M5 M5 PT1/8 PT1/8 PT1/8 PT1/8 PT1/8
Working Fluid ({5 f i 1) Clean Air(iE&=S)( iE1)

Operating Pressure ({# F /£ 71) (kgf/cm®) % £ & A 2 8247 210, 1~1Mpa, & % E £ 4 22 80.1 ~ 0.6Mpa(TMSQA1550.2 ~ 0.6Mpa)
Lubrication (i &) No need(If need,usel) (R F E L& M iEF1S51SOVG32)
Temperature ({£ A& ) () 0~60°

Motion Type(T{EA ) Double Acting Type (M 3h)

Accuracy (& E)(mm) +0.05

Auto Switch (M I %) (Auto switch of direct contact type) (% ¥ & #2147 X)

Note 1) Clean Air is contained solidity of 99.9% fluid oil and 0.3% supersaturated wet through filtering 3~10um
H GRS SRS 10pmid iR R T IRE9 9% K5 AR H £0.3%E R MK iE S ER.

1.162 ) TEEITE




AR E R S AL S R
e EEENSKEASH R
- - (%]
Rotary Table/ Rack& Pinion Type 2
<t
=
- o
TMSQ Series 2
Table Displacement (Reference values)({iL#%5 #1E)
) 100 =
The following graphs show the displacement
at point A, which is 100 mm apart from the AllLoad )
center of rotation,where the load is applied. 0 ==-=—= :
ASHUBESHHMNXRABENTR M e e B R
] .
TMSQ 15 TMSQB28
80
‘o\\\&\ 70
2
£ \ £
E 400 o® 5 60
E 2 E
_g 350 | g 30
a 407 i | \{jpe) 20
30 jsion
High prects
0 TMsoA‘jl‘/{' 10
0 5 10 15 20 25 30 0 2 4 6 8 10 12
Load N Load N'm
T™MSQ 18 TMSQB32
300 80
o2 70 —
£ @‘05\0 £
=5
Ky 5 60
g %0 «N\%& 5 50 —
; o
S 200 g a0
° 14?(? T = ° 20 ‘
30 . ecision type)
20 8 (H\gh prece — ———
10 TMSOM 10
0 10 20 30 40 50 0 2 4 6 8 10 12 14 16 18
Load N Load N-m
TMSQ 21
= TMSQB40
300 A
@,ba\f’/’ 90
£ 250 Py 7 80
3 %Q/ g_ 70
= A = 60
& 200 7 =
£ Z E 50
§ 7 8 —
E_ 150 // %‘ 40
5 130 =—— — 2 a0
K SQA21 (“BLGC'S on e 20
TMSOAE— 10
0 10 2 30Load 40 50 60 70 5 s m 5 2 S 3
Load N'-m
TMSQ 25
T o2
o
’b%\(:
200 Q}/
= 5o/
= Q
X/
§ Vs
g 150 BN A
3 7
S 120 |
a 50 ype‘
h p\'eC\S\On
— o MRS
|
0 20 40 60 80 100 120
Load N
$TETE 1163




e e EIEIEN S ELATE
Rotary Table/ Rack& Pinion Type

TMSQ Series

PNEUMATICS

Dimensions(mm)(7MF2 R <1 &
Basic Type(£ & #!)(915 ~@25)

m
w
o
TMSQBLIA 20D %
aD 1&
@DE
- [ | |
2xJCRJID CA 1 <
‘ 1 St T
UFJK -
2xJU 1 o] ] 3
. X 7}% LS - —— o =
il EEE——
T I
AU ODFR&FL | BA| Q
i
& ASU BA 206 g@
R =
T
BB 01
|
\ \ \ BXWDEWE
\ ‘ ] 2xP (GIEEE)
EL\{} P
‘Sl N
% %)
| o
o NS> @L z
@ |
AY
AX
/
AV N L 2 @
S o \B. D
A | U
AA ‘
BD
cr
|
R E B P ER EiEER — 1
TMSQALIR TMSQALIA —L] @ /6\ PN
TMSQBOR TMSQALIR — \J ~ o
— =
H %
=
oDI YA 2 g
oDH
oDJ
T
(mm) Ei% (mm)
Mi&| FU ) < #4| DH| DI | DJ | DK | DL | FE | HA | UV
o |
10 [31.5 ;L = @15 |45h8|46h8|20H8| 5 |15H8 10 |18.5|52.5
(Max. approx. FU) 20 |34.7 I ﬁ @18 |60h8|61h8|28H8| 9 |17H8/15.5| 26 | 63
30 |34.7 ' - @21 |65h8|67h8|32H8| 9 [22H816.5| 27 | 67
50 |51.7 EDL (Through) @25 |75h8|77h8|35H8| 10 [26H817.5| 30 | 76
(mm)

#M& AA| A | AU| AV |AW|AX|AY |BA| BB |BC|BD|BE|CA|CB| D DD | DE |DF| DG |FA|FB|FC|FD| H| J |JA| JB

@15|55.4| 50 | 8.6 | 20 [15.5| 12 | 4 |9.5|34.5|27.8| 60 | 27 | 4.5|28.5/45h9|46h9|20H9| 5 [15H9| 8 | 4 | 3 |4.5|13[6.8|11[6.5
©218(70.8| 65 |10.6|27.5/ 16 |14 | 5 |12 |46 | 30 |76 | 34 | 6 |30.5/60h9|61h9|28H9| 9 |17H9|10 | 6 |2.5|6.5| 17 |8.6| 14 | 8.5
@21|75.4| 70 |10.6| 29 |18.5/{ 14 | 5 |12 |50 | 32 |84 | 37 | 6.5|33.5/65h9|67h9|32H9| 9 [22H9|10 |4.5| 3 |6.5| 17 |8.6 |14 |85
225|85.4| 80| 14 | 38 |22 | 19| 6 |15.5| 63 |37.5/100]| 50 | 10 |37.5|75h9|77h9|35H9| 10 |26H9| 12 | 5 | 3 |7.5|20 |10.5| 18 |10.5

(mm)
Mg JC JD JJ JuU B Q| S |SD|SE|SF|SU|UU|WA|WB/WC| WD |WE|WF|XA|XB|XC|YA|YB|YC

215|M8x1.25 [12|M5x0.8 |M8x1 M5x0.8 | 34 |92 | 9 |13 |45 [17.7) 47 | 15 |3H9|3.5|M5x0.8 | 8 | 32 | 27 |3H9|3.5| 19 |3H9| 3.5
@18/ M10x1.5 [15|M6x1 M10x1 |M5x0.8 | 37 |[117| 10 | 12 | 60 | 25 | 54 |20.5|4H9| 4.5 | M6X1 10 | 43 | 36 |[4H9|4.5| 24 |[4H9| 4.5
@21/M10x1.5 [15|M6x1 M10x1 |Rc1/8 40 [127|11.5] 14 | 65 | 25 | 57 | 23 |4H9| 4.5 |M6Xx1 10 | 48 | 39 [4H9|4.5| 28 |[4H9| 4.5
@25|M12x1.75|18 | M8x1.25|M14x1.5|Rc1/8 46 [152|14.5/ 15 | 75 |31.4]| 66 |26.5(5H9| 5.5 | M8x1.25| 12 | 55 | 45 |5H9|5.5| 33 |5H9

1.164 ) TEEITE




te e B EN S ELA TR
Rotary Table/ Rack& Pinion Type

TMSQ Series

(%]
=
=
<<
=
=)
L
=
a

Dimensions(mm)(4Miz R <+ Bl(ZK))
Basic Type(£ & £!)(928 ~@ 40)
TMSQBLIA g
@DD & AB
2D = BB
. @DE ' l
2?2JCRJD T ‘” T T T d E E I I ‘ l
2?M5;<0.z; ‘ 1 I 1 2xRc 1/8 @7l
220 A \ ‘ S &y E & )
SHl=—=F (oo
T~ ANZIINAL Bl
| ?\ﬁ %
sleal | @DRETL Ba| AX| AY,
DG &P{ AV
B ASU s ﬁ SAF
CT AA
9Y
ELE:
42JJRIK )y RIS
22J 12
TRRILB \

EW

3

?
@

T
YBEYUREYC

iR EE AR ==
TMSQBDR YA 2
(mm)
A& FU
70 |55.4
100 [55.5
200(79.5

(Max. approx. FU)

(mm)
A& AA |AB| A | AV |AW|AX|AY | BA| BB | BC|BD|BE | CB D DD DE |[DF| DG | FA|FB|FC|FD| H J JA | JB
228| 90 | 92| 84 | 42 |25.5| 27 | 8 |17 | 75 |44.5/110| 57 | 36 |88h9 |90h9 |46H9| 16 |22H9|12.5| 5 |3.5| 9 | 22 [10.4]17.5/10.5
232|101 |[102| 95 | 50 |29.5/ 27 | 8 | 17 | 85 |50.5|130| 66 | 42 |98h9 |[100h9|56H9| 19 [24H9|14.5| 6 |3.5|12 | 27 |[10.4|17.5|10.5
240/119 |120| 113 | 60 |36.5 36 | 10 | 24 |103[65.5(150| 80 | 57 [116h9[118h9|64H9| 24 [32H9|16.5| 9 |5.5|15 | 32 |14.2| 20 [12.5

(mm)
A JC JD JJ JK JU Q| S |SD|SF|SU|UU|WA|WB|WC| WD WE |WF | XA |XB|XC|YA|YB|YC
228/ M12x1.75 | 18 |[M8x1.25 | 10 |[M20x1.5| 53 |[170| 18 | 79 |34.2| 75 [32.5|5H9| 5.5 |M8x1.25 [12.5| 67 | 54 |5H9|3.5| 39 |5H9| 3.5
@32|M12x1.75 | 18 |[M8x1.25 | 10 |[M20x1.5| 59 [189| 22 | 90 |34.3| 86 |37.5|6H9| 6.5 |M10x1.5 [14.5] 77 | 59 |6H9|4.5| 49 [6H9| 4.5
@40| M16x2 25 [M12x1.75| 13 |M27x1.5| 74 [240| 29 [108|40.2|106| 44 |[8H9|8.5|M12x1.75|16.5| 90 | 69 |8H9| 4.5| 54 |8H9|6.5

$TETTE 1.165




	页 1
	页 2
	页 3
	页 4

